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(a) Given that asFfm,we have E o ma . Therefore, the units of force are those of ma,
F=M(L/T*)={MLT"

17 () 789202 has[3 significant figures |

(b) 3788x10° has| 4 significant figures
() 246x10° haslisig:ﬁﬁcant figures |

(@ 00032=32x10" has |2 significant figures |




116 (@) =(348 mi}(}f—— GDDUEUE‘)= 5.60x10* km |=|5.60x10° m =_5.60x1ﬂ"' cm
1.609 km

LR
(b) h=(1612ft) &

4912 m |=|4.912x10* cm

W

0.4912 km

(© h=(20320ft}[1§:0kﬁ= 6192 km | =|6.192x10° m |=|6.192x10° em

@ d=(8200 “3[1$T)= 799 ki | = [ 2.499X10° m =[2499x10° cm

£ In (a), the answer is limited to three significant figures because of the accuracy of the
original data value, 348 miles. In (b), (c), and (d), the answers are limited to four
significant figures because of the accuracy to which the kilometers-to-feet conversion

factor is given.
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127 (a) mass=(density){vulum]=t%-g—xﬁj(l.0 m’)

3
=(1.0x10'3§n—3—)(1.ﬂ ma){%"ﬁ‘-} =|10x10° kg

£— Na TE MM THIS IS
AN ExREMELT ROty oMprion/
cell: m:dmityxvolu:rﬂ:(lﬂa %] %x(ﬂ&ﬂxlﬂ“’ m)a =|52x107" kg

(b) Asrough calculation, treat as if 100% water.

kidney: mass = density X volume = [1{]" %] %n(a‘hﬂ x107 m)3 =|0.27 kg

fly: mass = density x volumé(density) [m- zh)

=[103 g?._-) #(1.0x10* m)' (40x10° m)=|13x10” kg
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1.33  Consider a room that is 12 ft square with an 8.0 ft high ceiling. The volume of this room

18

V., =(12 ft)(12 f§)(8.0 &)[ 3;3? J,—.-as m.

A ping pong ball has a radius of about 20cm, 80 its volume is
4 4 2 _\3
Vg =5° =2 #(2.0x107 m) =3.4x10" m®.

The number of balls that would easily fit into the room is therefore

33 m®

— 2 _=97x10° or|~10°
3axi0 o O X0 or

n:-‘fm:
Vhﬂ

134 Assume an average of 1 can per person each week and a population of 250 million.

number cans/year = [nmwﬁpemrl) (population)(weeks/year)

=(1 C‘;“w;kw](zﬁxm“ people) (52 weeks/yr)

= 13x10° cansfyr ,or |~10" cansfyr

number of tons =(weight/can) (number cans /year)

{osllamlrs

=2x10° ton/yr, or | ~10° ton/yr

Assumes an average weight of 0.5 oz of aluminum per can.
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(b) The time required must have been
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